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A 5 i KGRI (AL G R AG RIERTNE 14) 3 j KR
AR ISR, mg/m?;
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R HE ORI KR (VR SIS 8 RLIE 6 A 7= S P IR 0.75, STy B
HY 0.65.

A RBCCT f 3 fmjmmm HETSCR A 4% S BN B35 e S Sk B AR RAE T
MFHESE. BibEirael 2.

AT H 4N SEBRHE AR FE S iR 2R A — MK R BB HER @A 3 4
AEENHERE (USRI , KEBHS AL RN RS0 w K Ve B HE
AEAPREN 0.072 t, EEHLAFE BRI N 6.72mg/m3sEPRig T
46h 2800 BEN LS BRI - YR FE N 7.27mg/mesL2BRiz4T 18h. 3t EHLHES

T UKL T ¥R FE O 6.75 mg/m3sEFRiz 4T 18h.

THERIAS, + H Rk ) sE R AR E N -
M KV EEHER O CBiRiY)) =0.072/0.65= 0.1108t

M ENLHER T CBUkiY) =6.72 X 22593 X 46 X 10°/0.65= 0.0107t
M2# L HER T CBURkid) =7.27 X 19768 X 18 X 10°°/0.65= 0.004t
M3#ELEHLHERR T CBRiY)) =6.75X 21513 X 18 X 10°/0.65= 0.004t

M 7K e BE+M €12 41=0.1108+0.0107+0.004+ 0.004+0=0.1295
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R HE ORI KR (VR SIS 8 RLIE 6 A 7= S P IR 0.75, STy B
HY 0.65.

A RBCCT f 3 fmjmmm HETSCR A 4% S BN B35 e S Sk B AR RAE T
MFHESE. BibEirael 2.

AT H 4N SEBRHE AR FE B S iR 2R AU — MK R BB HER A 3 4
AEENHRE (SN , KEEBHAS AL RN R S0 E K e BEHE
AEHAPREN 0.059 t, HELEHLAFE MR TN 6.72mg/m3sEBRig AT
46h 2800 BEN LS BRI - YR FE N 7.27mg/mesL2BRiz4T 18h. 3t EHLHES

T R T ¥R FE O 6.75 mg/m3sEFRiz 4T 31h.

TERAS, +— H Rk ) se bR AR E N
M KV EEHER O CBRiY)) =0.059/0.65= 0.0908t

M ENLHER T CBUkiY) =6.72 X 22593 X 46 X 10°/0.65= 0.0107t
M2# L HER T CBURkid) =7.27 X 19768 X 18 X 10°°/0.65= 0.004t
M3#ELEHLHERR T CBRIY)) = 6.75X 21513 X 31X 10°/0.65= 0.0069t

M 7K EE+M fL3541=0.0908+0.0107+0.004+ 0.0069+0=0.1124
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Mopgn = 2, Ciy x @y x T, x10°/ B (8)
i=]
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AR ISR, mg/m?;
Qi3 i Fys SR § KB B ERERE FFHAUR, mi/hs
Lo i e o § KW BRI B 1 B SRR AT I,
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KU ORI KT CHVRE) IS 8 R IE 3 A= S P IR 0.75, STy B
HY 0.65.
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MFHAR. BiE T a2z,

AT H 4N SEBRHE AR FE S iR 2R A — MK R BB HER @A 3 4
AEENHRE (SN , KEEBHAS AL RN R S0 E K e BEHE
AEHIEN 0.0367 t, 1#EAEHLHE A BRI I 6.72mg/m3sLPrizfT
44h 2800 BEN LS BRI - YR FE N 7.27mg/mesE2Briz4T 17h. 3t EHLHES

T R )T ¥R FE O 6.75 mg/m3sE PRIz 4T 15h.

THERAS, = H O Rk ) sE bR AR CE N -
M KV BEHER T (R4 ) =0.0367/0.65= 0.0565t

M1 HLHERL T CBIRIY) =6.72 X 22593 X 44 X 10°/0.65= 0.0103t
M2#E8 B HLHERR T CBRIY) =7.27 X 19768 X 17 X 10°/0.65= 0.0038t
M3#ELEHLHERR T CBRIY)) =6.75X 21513 X 15 X 10°/0.65= 0.0034t

M 7KJEEE+M £L2EH1=0.0565+0.0103+0.0038+ 0.0034+0=0.0738



